YHUCTOBHK GCOI[I Xyumus J
Jlucr N2
cA
14 B

g N

- O UK
/\'{f A oV

on

an-mD /(i \)\
o)
Ota

T \/\S\ B 2\//
Ah5~"] Ci\/r@ OM '
\
po e V

Me(®)=419.5 | W
‘\’\v{‘e\v Z 484 /{




HHUCTOBHK e J
JucrNe

bl Bogoutwe O ~
R : » oK.
| % R g L ngg
; |
) ”61 > ) P oM~ -4 e, O+ QUL
- (o), S ‘
OW-? N e tuom), = 1 C—OH
2] F ] \
W g o Y- € ~ Ol
W - C — OW\ 1 )
| " |
¢ H.01 (Ta.mmaa> C VO
014 )

H
ol H Q :
o l«y O/ eH V(QLf +&((QL”)2\>
Lo

O
H i H

Q’L’t"’@ d C'u{ MQB = @l ( UOF5>*'¢ + 2 M(O'{ '{"Bul/@
‘?—6_,{3 ' Q‘('?‘{;* 5ré’(‘~7-‘

—

- & - CEYEHOBCKUU
>~ VHUBEPCUTET

A AN




(‘{HC’I;OBHK J CBCODLI Xuvyast J
JimerNe

8,4 50.3(1»&%&.

= 49, Ly

°d U0, we

8
vy - pok (UO‘Dz _l 'ZLéQL o 1 Q’H,ﬁ

[ha o w0, AUl > Kt ] 1 O+ THO

Q: eg¢
&7

5852
ZeP«L- + (SUC+ 2 ppQ, 3l [Ael 1 A VO SHO
Fd P kt& 12 800 = (2,8 4pf AL

hpedgPas. = 1% (R W=z o

‘ 2
\..yomao = g RE .§Q:‘7‘~ L\ = '5‘ adw. (2 "3:'4[{2{{-_,

S0 | m=g-V = 2. S0k = 59, &8

v

i, O(c e & 50 8N
SMy Hy + 4 I-Mu Oy + @ H.80, ~ 6/{/_ fbp{ngf_),;?k;?go;é
FR-E o 5’
08 L oae 5H8&-Hzhk=I57E +16H0
(g9 94 ERSn mrat § =areey
'I][ 4 Rz = 9 g T ~qoig
- CEYUEHOBCKUHA
<~ YHUBEPCUTET

f@’f)ﬂ A7)




YUCTOBUK BCOITI Xunaust J
Jluer N2 e — i
1) o, )

Dy & (k,;(/\\ e A /LC? ¢ +f NO, +&,

:) ('(,aﬁ; £ Iff/—)f ‘—)2/2 /‘5/ p J/fﬁj’f
)o?’z /5/’3 + j’{"”“’ 5S¢ St Saey ""}é'f‘{/"t‘fl’yf 2/?/5’;(/

C
+ 350, )
, (%) ,’I,
f,/fl’ z/r) %5//[\“}”0} )/f/;;tﬁ/&}f),{
| Jr\ﬂ-,j L F (o) T+ 3000 =3, (6 zg—f/m/;mw
&) L Fe (L' o B : i
) ' }{)) 5(’/’5 T 050K é/;[_/é/" Zi, @4.,.({ HOH
- 73 ¢ -(-Xi{)
Fe' - 3¢ > RkT 13] |,
. ‘ j." ..'f & ;;j
L1 TZE S 24 / / /
) "
G4 M{&-Mh —Chcoos )= 222 525
DSy,

'M(Q]:“{?C: —CY, g\'{—b&
M[AK)— ML)+ [0~ (”3’9 {0

MIRD= 123 Hz"/ - ~eMic _coot
CWL
- CEYEHOBCKUI ) J\_

S YHI/IBE%%% ol
e
ou




q Y{C I OBI'[I{ Cgcom Kumns I
Jwmer N . — S— /

8); 1 ZD._J&SU.,LU 5%
\

1) A wol

ent,C
| ,) + - 0*'- 2 (n(w{ ()O 4 UOH
e, CA cpt OU
2) 6 A PValOlt - -{0) C\ 4 Palld

coind
oM, U
¢
Q \\. 4 0O <3 + }r(Ol/D

\\f
:@W Ul e, WU,
W ’1 MM 4 W, “"”‘;(e)@ 4 Rl
QL=1ML\ e, DU
' /
) Qﬁ UanOt # Wel - \(’[3)6 £ Yot bald

-+ 4
Cil OV S
A0

Cs L T /,’O

Q\ o e

@ Q) £ = 2 @ ¢
/ / &
O

” CEYEHOBCKUMA

YHI/IB E{%ﬂ fﬁ




